Problemas de integrales definidas y areas
2° de Bachillerato

Calcular el drea encerrada entre las siguientes graficas:

2? — 6z, g(x) =0

() =
2. f(x)=a* 422 +1, g(z) =22 +5
3. fx) =242 +3, g(x) = —2® + 22 + 3
4. f(a)=a? g(z) =2®
5. f(x) =3(z° — ), g(z) =0
6. fla)=(z—1)° g(a) =z -1
7. f(z) =2? — 4z, g(z) =0
8. f(z)=3-2z—2% g(z)=0
9. f(x) =242z +1, g(x) =3z +3
10. f(z)=—2®+4z+2, g(z) =z +2
11. f(z) ==, g(x) =2 -1, h(z) =0

12. f(x):ﬁ,g(x)zo,le,x:5

13. f(z) = 32* + 2z, g(z) = 8

22. fly) =y(2—y),9y) =—y
23. f

(z)
14. f(z) = z(2® — 3z +3), g(x) = 22
15. f(x)=a—220+1, g(z) = -2z, x =1
16. f(z) = Va, g(x) ==
17. f(x) =V3z+1, glz) =z +1
18. f(z) = 2%+ bz — 6, g(z) = 63— 6
19. f(z) 4z +3, g(x) =3 +4z —=x
20. f(x) = 2* —22?%, g(v) = 222
21 f(y) =y, g9(y) =y +2
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f(y)zx/ﬁ,g(y)ZO,yZB
f(a:):%,g(a:):—x2+4m—2,x>0

1 z?
f(x)—m79( ) o
f() =2, gla) = seca, g <w< g
3 3
f(z) =2sinz, g(z) = tanz, —g <z< g
)
f(z) =sin2zx, g(x) = cosz, % <z< %

f(z) =2sinz+sin2z,y=0,0<z <7

f(z) =2sinz+cos2z,y=0,0<z<m7

2

fl@y=ze",y=0,0<zx<1

fla)=—5e/" y=0,0<w<3
6x

— —0,0<z<

f() A ¥=00<z<3

flz)=—,2=0,y=1y=4



